
MATHS

BOOKS - MARVEL MATHS (HINGLISH)

SEQUENCES AND SERIES

Illustrative Examples

1. Find the  term of the H.P 

Watch Video Solution

24th , , , , ⋯
2

7

1

5

2

13

1

8

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PTztqitW850D
https://dl.doubtnut.com/l/_Qu71xoLhOQGM


2. If the  and  terms of an H.P are 1/16 and

1/29 respectively find the  term of the H.P.

Watch Video Solution

11th 21st

31st

3. The  term  of H.P is  and  term 

 is . Prove that 

Watch Video Solution

pth Tp q(p + q) qth

Tq p(p + q) Tp+q = pq

4. If the  term of an H.P. is n and the  term is

m, show that its  term is 1.

Watch Video Solution

mth nth

(mm)th

https://dl.doubtnut.com/l/_Qu71xoLhOQGM
https://dl.doubtnut.com/l/_k2DIRbypraOp
https://dl.doubtnut.com/l/_n8P2YJP7WgZc


5. If for a G.P. =-6 and  =48 find .

Watch Video Solution

{tn}, t2 t5 S7

6. If for a G.P.  =27 and  =242, and .

Watch Video Solution

{tn}, t7 : t4 S5 t3

7. If for a G.P. =15 and =255, find a and r.

Watch Video Solution

{tn}, S2 S4

https://dl.doubtnut.com/l/_n8P2YJP7WgZc
https://dl.doubtnut.com/l/_1yWi2Le3acBW
https://dl.doubtnut.com/l/_wBCOTsABPN2k
https://dl.doubtnut.com/l/_oJPIOzCLDaos


8. If a=3, r=3 and =255 find n.

Watch Video Solution

Sn

9. If the sum of the first n terms of a sequence is

 show that it is a G.P. Also , find its first

term and common ratio.

Watch Video Solution

2(7n − 1) /3

10. Find three numbers in a G.P. such that their

sum is 31 and their product is 125.

https://dl.doubtnut.com/l/_xfjiqZM1Dixr
https://dl.doubtnut.com/l/_Am4YDPLo8GKM
https://dl.doubtnut.com/l/_8tLCFfch1SE3


Watch Video Solution

11. The sum of three numbers in G.P. is 21 and the

sum of their squares is
189. Find the numbers.

Watch Video Solution

12. Find five numbers in a G.P. such that their

product is 1, and the sum of the middle three is

13/3.

Watch Video Solution

https://dl.doubtnut.com/l/_8tLCFfch1SE3
https://dl.doubtnut.com/l/_fl4sNKF7lqqm
https://dl.doubtnut.com/l/_8H7CpIOAvMzA
https://dl.doubtnut.com/l/_6OpCCOSYy9ES


13. Find four positive in a G.P. such that their

product is 1 and the sum of the extremes is 65/8.

Watch Video Solution

14. The three numbers are in A.P and their sum is

21. If the first and second are decrease by 1 each

and third is increased by 7, they form a G.P Find the

numbers of A.P.

Watch Video Solution

https://dl.doubtnut.com/l/_6OpCCOSYy9ES
https://dl.doubtnut.com/l/_CUtyC3khEPoy


15. if  be roots of  and 

are roots of  and (in

order) form a increasing GP then find the value of

Watch Video Solution

α, β x2 − 3x + a = 0 γ, δ

x2 − 12x + b = 0 α, β, γ, δ

a&b

16. If the A.M. and G.M. of two numbers are 16 and

12 respectively find their H.M.

Watch Video Solution

https://dl.doubtnut.com/l/_ep6KQSJquZWC
https://dl.doubtnut.com/l/_BAkt9MlJY5AG


17. If the A.M. of two numbers exceeds their G.M. by

10 and their H.M. by 16 , then the numbers are.

A. 5,45

B. 10,40

C. 5,40

D. 15,25

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NEwHEaZJrLdd


18. If the G.M. of two numbers is 24 and their H.M.

is 72/5, find the numbers.

Watch Video Solution

19. The harmonic mean of two numbers is 4. Their

arithmetic mean 
 and the geometric mean 

satisfy the relation 
 Find two

numbers.

Watch Video Solution

A G

2A + G2 = 27.

https://dl.doubtnut.com/l/_b8noCiRJlXWh
https://dl.doubtnut.com/l/_LDBzqH1tyff9


20. Find the sum to n terms of the series 

4+41+401+4001+

Watch Video Solution

⋯

21. Find the sum to n terms of the series

4+44+444+4444+

Watch Video Solution

⋯

22. Sum the series  to n terms.

Watch Video Solution

.4 + .44 + .444 + ...

https://dl.doubtnut.com/l/_JEFxj3RvHz4C
https://dl.doubtnut.com/l/_zbmNyW9wgbdI
https://dl.doubtnut.com/l/_zeNhy4vD69Kp


23. Find the sum to n terms of the series

3.4+5.04+7.004+9.0004+

Watch Video Solution

⋯

24. Find the sum to n terms of the series (1)+(1+a)+

(1+a+ .

Watch Video Solution

a2)⋯

https://dl.doubtnut.com/l/_zeNhy4vD69Kp
https://dl.doubtnut.com/l/_0hUOduSqPJGx
https://dl.doubtnut.com/l/_EV2SGU2HH94p


25. Find the sum to n terms of the series :

Watch Video Solution

1 + 2x + 3x2 + 4x3 + ......

26. Find (r+2)(3r+1).

Watch Video Solution

10

∑
r= 1

27. Evaluate the sum: 

Watch Video Solution

43 + 53 + 63 + ⋯ + 203

https://dl.doubtnut.com/l/_uHooyWF6yxa6
https://dl.doubtnut.com/l/_cAbi7MVHN6BA
https://dl.doubtnut.com/l/_BDUszWn7S0Jk


28. Evaluate

.

Watch Video Solution

502 − 492 + 482 − 472 + ⋯ + 22 − 12

29. If =6 find n.

Watch Video Solution

1.2 + 2.3 + 3.4 + ⋯to n terms
1 + 2 + 3 + ⋯to n terms

30. Find the sum to n terms of the series 

2.5+5.9+8.13+11.17+  

where the point represents multiplication.

⋯

https://dl.doubtnut.com/l/_ptsV4K9dD5CR
https://dl.doubtnut.com/l/_TiJTFo6wiYpX
https://dl.doubtnut.com/l/_pOnFUVKS6nU1


Multiple Choice Questions

Watch Video Solution

31. Find the sum to n terms of the series 

Watch Video Solution

+ + + ⋯
12

1

12 + 22

1 + 2

12 + 22 + 32

1 + 2 + 3

1. If for a G.P., a=8 and =64 then : r =

A. 1

t4

https://dl.doubtnut.com/l/_pOnFUVKS6nU1
https://dl.doubtnut.com/l/_NJXUPOCMhkrk
https://dl.doubtnut.com/l/_ZCumszVy2zkl


B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

2. If for a G.P., r=2 and =128, then : a =

A. 

B. 2

C. 

t9

1

2

1

3

https://dl.doubtnut.com/l/_ZCumszVy2zkl
https://dl.doubtnut.com/l/_UPZengsK4yYe


D. 3

Answer: A

Watch Video Solution

3. If, for a G.P.,  =0.08 and  =0.000128, then : (a,r) 

A. (1,2)

B. 

C. (2,0.2)

D. 

t3 t7

≡

(2, )
1

2

( , 0.002)
1

2

https://dl.doubtnut.com/l/_UPZengsK4yYe
https://dl.doubtnut.com/l/_UtuvzHtEYsPH


Answer: C

Watch Video Solution

4. If for a G.P.,  =8 and =80 , then : (a,r) 

A. (2,4)

B. (2,3)

C. (3,4)

D. none of these

Answer: B

Watch Video Solution

S2 S4 ≡

https://dl.doubtnut.com/l/_UtuvzHtEYsPH
https://dl.doubtnut.com/l/_Q81deO1G9hHF


5. If for a G.P., r=2 and =510, then :  =

A. 2

B. 15

C. 8

D. 18

Answer: C

Watch Video Solution

S8 t3

https://dl.doubtnut.com/l/_Q81deO1G9hHF
https://dl.doubtnut.com/l/_3blFQu0rKZZy


6. If for a G.P.,  and =972, then :  =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

t3 = 36 t6 t8

4(37)

3(47)

2(37)

3(27)

7. If for a G.P. ,  =32 and =255, then : =t8 : t3 S9 t1

https://dl.doubtnut.com/l/_aFAIOZK0QZWH
https://dl.doubtnut.com/l/_TjGb1ihQLX1q


A. 2

B. 3

C. 5

D. none of these

Answer: C

Watch Video Solution

8. If for a G.P.,  =125 : 152 then : r =

A. 3

B. 

S3 : S6

3

5

https://dl.doubtnut.com/l/_TjGb1ihQLX1q
https://dl.doubtnut.com/l/_G4TqXO76Hm1s


C. 5

D. 

Answer: B

Watch Video Solution

5

3

9. If for a G.P., a=5, r=2 and  =635 then : n =

A. 5

B. 8

C. 7

D. none of these

Sn

https://dl.doubtnut.com/l/_G4TqXO76Hm1s
https://dl.doubtnut.com/l/_uw4lNVAMWwNM


Answer: C

Watch Video Solution

10. If the  term of a G.P. is  then its first

term and common ratio are respectively

A. 3,n

B. n,4

C. 3,4

D. 4,3

Answer: C

nth 3(4n+ 1)

https://dl.doubtnut.com/l/_uw4lNVAMWwNM
https://dl.doubtnut.com/l/_KNZVnPfBJR4C


Watch Video Solution

11. If 2+x, 3+x, 9+x are in a G.P., then : x =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−
9

5

9

5

−
5

9

5

9

https://dl.doubtnut.com/l/_KNZVnPfBJR4C
https://dl.doubtnut.com/l/_wDq3LTXCF2MJ
https://dl.doubtnut.com/l/_TVkzt8NBacn0


12. If the positive numbers 3,x,5,y are in a G.P., then :

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(x, y) =

(3√15, 2√5)

(3√5, 15√5)

(2√15, 3√5)

https://dl.doubtnut.com/l/_TVkzt8NBacn0


13. Four number in G.P. such that the product of

their extremes is 108 and the sum of the middle

two is 24 are

A. 9,10,11,12

B. 2,18,6,54

C. 2,6,8,54

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3ENCaEsEqy6R
https://dl.doubtnut.com/l/_VH7F4i2Nsw5H


14. Three given numbers whose sum is 24 are in an

A.P. If the first is decreased by 1 the second is

decreased by 2 and the third is left unchanged the

resulting numbers are in a G.P. Then the given

numbers are

A. 3,13,8

B. 4,8,12

C. 13,3,8

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VH7F4i2Nsw5H


15. Three numbers whose sum is 18 are in AP if 2,4,

11 are added to them respective the resulting

numbers are in GP. Find the numbers.

A. 9,6,3

B. 3,9,6

C. 3,6,9

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_VH7F4i2Nsw5H
https://dl.doubtnut.com/l/_8bdlRB5S6bGr
https://dl.doubtnut.com/l/_DokDI13YF448


16. If the  and  terms of a G.P. are 32 and 256

respectively . Then its  term is

A. 8

B. 12

C. 16

D. 20

Answer: C

Watch Video Solution

5th 8th

4th

https://dl.doubtnut.com/l/_DokDI13YF448


17. If  ,  and  terms of a G.P. are p,q and s

respectively then

A. p+r=2q

B. q+r=2p

C. p+q=2r

D. pr=

Answer: D

Watch Video Solution

5th 8th 11th

q2

https://dl.doubtnut.com/l/_GdUz19oVsalT


18. If x,y,z are in G.P. then log x , log y, logz, are in

A. A.P.

B. G.P.

C. both

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ajDeMN3UUNaP


19. If the third term of G.P.is , then find the

product of first five terms

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4

43

44

45

46

https://dl.doubtnut.com/l/_ZKmW3Qb3DOJt


20. If  are in  then the

fourth term is

A. 27

B. -27

C. 13.5

D. -13.5

Answer: D

Watch Video Solution

x, 2x + 2, 3x + 3 G. P . ,

https://dl.doubtnut.com/l/_6g3emXWsHaK3


21. A man borrows Rs. 8190 without interset and

repays the loan in 12 monthly instalments. If each

instalment is double the preceding one then the

first and last instalments are (in rupees)

A. 5 and 1200

B. 2 and 4096

C. 3 and 7200

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7PpAI4HxmO93


22. If a,b,c are unequal numbers in A.P. such that

a,b-c,c-a are in G.P. then

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

= =
a

1
b

2
c

3

= =
a

3
b

5
c

7

= =
a

1
b

3
c

5

https://dl.doubtnut.com/l/_RdpceAlF2R75


23. If a, b, c are in A.P. and x, y, z are in G.P., then

prove that : 

A. -1

B. 0

C. 1

D. none of these

Answer: C

Watch Video Solution

xb− c. yc−a. za− b = 1

https://dl.doubtnut.com/l/_bQRvRnjfZfMe
https://dl.doubtnut.com/l/_cqzK6TTFDTio


24. If a,b,c are simultaneously in an A.P. and a G.P. ,

then : 

A. -1

B. 0

C. 1

D. none of these

Answer: A

Watch Video Solution

ab. bc. ca =

https://dl.doubtnut.com/l/_cqzK6TTFDTio


25. if  is the sum ,  the product and  the sum

of reciprocals of  terms in  prove that 

A. P

B. 

C. 

D. 

Answer: B

Watch Video Solution

S P R

n G. P .

P 2Rn = Sn

P 2

P 3

P n

https://dl.doubtnut.com/l/_VABUuDukMRLu
https://dl.doubtnut.com/l/_62MgsrPKYpns


26. The A.M. of a and c is b. If b is also the G.M. of a

and c+1 then : =

A. a

B. b

C. c

D. a-b

Answer: A

Watch Video Solution

(b − c)2

https://dl.doubtnut.com/l/_62MgsrPKYpns


27. If the A.M. and G.M. of the roots of a quadratic

equation in x are P and q respectively then the

equation is

A. =0

B. =0

C. -px+q=0

D. =0

Answer: A

Watch Video Solution

x2 − 2px + q2

x2 + 2px + q2

x2

x2 − 2px + q

https://dl.doubtnut.com/l/_RdB1u40jyxev
https://dl.doubtnut.com/l/_psL8Fw77WMJL


28. If the A.M. of the roots of a quadratic equation

is  and the A.M. of their reciprocals is  then the

equation is

A. =0

B. =0

C. =0

D. =0

Answer: B

Watch Video Solution

8

5

8

7

5x2 − 8x + 7

5x2 − 16x + 7

7x2 − 16x + 5

7x2 − 16x − 5

https://dl.doubtnut.com/l/_psL8Fw77WMJL


29. =

A. 3656

B. 3655

C. 3654

D. none of these

Answer: B

Watch Video Solution

82 + 92 + 102 + ⋯ + 222

30.  =602 − 592 + 582 − 572 + ⋯ + 22 − 12

https://dl.doubtnut.com/l/_ee4CbqfVWtUb
https://dl.doubtnut.com/l/_qVubj5Ifwz7s


A. 1830

B. 3180

C. 1380

D. none of these

Answer: A

Watch Video Solution

31. =

A. 34200

B. 34300

403 − 383 + 363 − 343 + ⋯ + 43 − 23

https://dl.doubtnut.com/l/_qVubj5Ifwz7s
https://dl.doubtnut.com/l/_Mn1Hn7PmWj3K


C. 34400

D. 34500

Answer: C

Watch Video Solution

32. If  r=210, then : =

A. 2870

B. 2160

C. 2970

n

∑
r= 1

n

∑
r= 1

r2

https://dl.doubtnut.com/l/_Mn1Hn7PmWj3K
https://dl.doubtnut.com/l/_cq0dMh1MOyxM


D. 2960

Answer: A

Watch Video Solution

33.  r (2r+1)=

A. 5550

B. 5950

C. 5590

D. none of these

20

∑
r= 1

https://dl.doubtnut.com/l/_cq0dMh1MOyxM
https://dl.doubtnut.com/l/_tUfKr4MyZO2i


Answer: B

Watch Video Solution

34.  =

A. 4930

B. 3490

C. 9430

D. none of these

Answer: A

W t h Vid S l ti

10

∑
r= 1

(4r − 3)2

https://dl.doubtnut.com/l/_tUfKr4MyZO2i
https://dl.doubtnut.com/l/_7myDTqNCYX4G


Watch Video Solution

35. Find the sum of the following series:

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

5 + 55 + 555 + →  n terms.

[ (1 − 10n) − 1]
5

9

10

9

[ (10n − 1) − n]
5

9

10

9

[ (1 − 10n) − 10n]
5

9

1

9

https://dl.doubtnut.com/l/_7myDTqNCYX4G
https://dl.doubtnut.com/l/_ytKdHPyzSpLY
https://dl.doubtnut.com/l/_Dw8CatOLkATq


36. 1.2+3.02+5.002+7.0002+  to n terms =

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

⋯

n2 + (1 + )
2

9

1

10n

n2 − (1 − )
2

9

1

10n

n2 + (1 − )
2

9

1

10n

37. =13 + 23 + 33 + ⋯ + 203

https://dl.doubtnut.com/l/_Dw8CatOLkATq
https://dl.doubtnut.com/l/_MuKpUyRrfqtU


A. 14400

B. 44100

C. 41400

D. none of these

Answer: B

Watch Video Solution

38. 

A. 2779

B. 7279

72 + 82 + 92 + ... + 202 =

https://dl.doubtnut.com/l/_MuKpUyRrfqtU
https://dl.doubtnut.com/l/_BVNx6n0D501H


C. 7729

D. none of these

Answer: A

Watch Video Solution

39. =

A. 11550

B. 11055

C. 55011

D. none of these

112 + 122 + 132 + ⋯ + 322

https://dl.doubtnut.com/l/_BVNx6n0D501H
https://dl.doubtnut.com/l/_0Ka5thfzHeAH


Answer: B

Watch Video Solution

40. Suppose that  for n = 1,

2, 3,.....and f(1)= 2 Then F(101) equals = ?

A. 50

B. 52

C. 54

D. none of these

Answer: B

F (n + 1) =
2f(n) + 1

2

https://dl.doubtnut.com/l/_0Ka5thfzHeAH
https://dl.doubtnut.com/l/_S3A50GwUgjA5


Watch Video Solution

41. If a, b, c, d, e, f are in А.Р., then e-c is equal to

A. 2(c-a)

B. 2(d-b)

C. 2(f-d)

D. 2(d-c)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_S3A50GwUgjA5
https://dl.doubtnut.com/l/_zmXEaQNaddCG
https://dl.doubtnut.com/l/_tTlsqA04TX9L


42. If the middle term amongst any odd number

(n) consecutive terms of an A.P, is m, then their

sum is (a)  (b)  (c)  (d)

A. 2mmn

B. mn/2

C. mn

D. 

Answer: C

Watch Video Solution

2m2n
mn

2
mn mn2

mn2

https://dl.doubtnut.com/l/_tTlsqA04TX9L


43. The sum of all 2 digit odd numbers is

A. 2475

B. 2530

C. 4905

D. 5049

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_j1NRkoyC0pRu


44. The middle term of the progression

 is (a)-46 (b)-76 (c)-80

(d) None of these

A. -46

B. -76

C. -80

D. none of these

Answer: C

Watch Video Solution

20, 16, 12, ⋯, − 176, − 180

https://dl.doubtnut.com/l/_kk9IV4aaYIgv
https://dl.doubtnut.com/l/_v6QXCpDNyCG4


45. If the first and the last terms of an A.P. are -4

and 146 respectively and the sum of this A.P. is 7171

then its common difference is

A. 2

B. 

C. 

D. -2

Answer: C

Watch Video Solution

−3/2

3/2

https://dl.doubtnut.com/l/_v6QXCpDNyCG4


46. The sum of an A.P. is 525. If its first term is 3 and

the last term is 39 then its common difference is

A. 

B. 1

C. 

D. none of these

Answer: A

Watch Video Solution

3/2

1/2

https://dl.doubtnut.com/l/_VWIH7kpbDI4X


47. If the first term of an A.P. is 100 and the sum of

its first 6 terms is five times the sum of the next 6

terms then its common difference is

A. 10

B. -10

C. 5

D. -5

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hSt4E4avosKG
https://dl.doubtnut.com/l/_mlJ4Ie5tj3wU


48. Sum of all two digit numbers which when

divided by 4 yield unity as remainder is.

A. 1100

B. 1200

C. 1210

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mlJ4Ie5tj3wU


49. If the sum of any number of consecutive terms

of a sequence is always nine times the squared

number of these terms then the sequence is a/an

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_dVqPaOYr5neq
https://dl.doubtnut.com/l/_Ktvk0xxAg8VT


50. If the sum of the first n terms of an A.P. is pn+

 then its common difference is

A. p-q

B. p+q

C. 2q

D. 2p

Answer: C

Watch Video Solution

qn2

https://dl.doubtnut.com/l/_Ktvk0xxAg8VT


51. The sum of the series


 up to 


terms is
 
b. 
c. 
d. 

A. 

B. a+2nd

C. a+nd

D. 2nd

Answer: C

Watch Video Solution

a − (a + d) + (a + 2d) − (a + 3d) +

(2n + 1) −nd a + 2nd a + nd 2nd

−nd

https://dl.doubtnut.com/l/_taYjxQutzrT0
https://dl.doubtnut.com/l/_YjFeoK9HyJbH


52. If 
 denotes

the sum of the first 
terms of an A.P., then find the

common difference.

A. p+q

B. 2p+3q

C. 2q

D. q

Answer: D

Watch Video Solution

Sn = nP + Q, whereSn

n(n − 1)

2

n

https://dl.doubtnut.com/l/_YjFeoK9HyJbH


53. Four different integers form an increasing A.P

.One of these numbers is equal to the sum of the

squares of the other three numbers. Then the

product of all numbers is ?

A. 

B. 0,1,2,3,

C. 

D. none of these

Answer: C

Watch Video Solution

−2, − 1, 0, 1

−1, 0, 1, 2,

https://dl.doubtnut.com/l/_5jKjKtjeHFlP


54. If in an A.P. , it is given that =q and =p

then : 

A. 0

B. p-q

C. p+q

D. 

Answer: A

Watch Video Solution

{tn} tp tq

tp+q = ⋯

−(p + q)

https://dl.doubtnut.com/l/_oTkwosV3vogP


55. If in an A.P. , it is given that p.

then : 

A. -1

B. 1

C. 0

D. 

Answer: C

Watch Video Solution

{tn} tp = q. tq

tp+q = ⋯

−(p + q)

https://dl.doubtnut.com/l/_GX77Tr0ApJgm


56. If 
 from two arithmetic

progressions of the common difference, then


are in A.P. if
 
are in A.P. b. 
are

in A.P. c. 
are in G.P. d. none of
these

A. p,b,r, in A.P.

B.  in A.P.

C. p,b,r in G.P.

D. none of these

Answer: B

Watch Video Solution

a, , and , q,
1

b

1

p

1

r

a, q, c p, b, r , ,
1

p

1

b

1

r

p, b, r

, ,
1

p

1

b

1

r

https://dl.doubtnut.com/l/_xNb3DsaOwJKt


57. If  is the sum of the first n terms of an A.P.

then : (a)  (b) 

(c)  (d) none of these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

Sn

S3n = 3(S2n − Sn) S3n = Sn + S2n

S3n = 2(S2n − Sn

S3n = 3(S2n − Sn)

2. S3n = Sn + S2n

S3n = 2(S2n − Sn)

https://dl.doubtnut.com/l/_cIlmOx1yWtny
https://dl.doubtnut.com/l/_DrsVzsyXg9i4


58. If in an A.P.,  then =
(a)5 (b) 6

(c)7 (d)8

A. 5

B. 6

C. 7

D. 8

Answer: B

Watch Video Solution

S2n = 3. Sn S3n : Sn

https://dl.doubtnut.com/l/_DrsVzsyXg9i4


59. If  denotes the sum of first n terms of an A.P.,

then 

 is equal to

A. 21

B. 15

C. 16

D. 19

Answer: B

Watch Video Solution

Sn

S3n − Sn− 1

S2n − Sn− 1

https://dl.doubtnut.com/l/_TFZSFkZpSLMJ
https://dl.doubtnut.com/l/_SIlmmm6uH1EY


60. If in an A.P. , 


225 then :

A. 550

B. 900

C. 1150

D. 1400

Answer: B

Watch Video Solution

{an}

a1 + a5 + a10 + a15 +20 + a24 =

S24 = ⋯

https://dl.doubtnut.com/l/_SIlmmm6uH1EY


61. IF in an A.P.

 then : 

. (a) 49 (b) 98 (c)147 (d)

196

A. 49

B. 98

C. 147

D. 196

Answer: B

Watch Video Solution

{an}a1 + a4 + a7 + ⋯ + a16 = 147,

a1 + a6 + a11 + a16 = ⋯

https://dl.doubtnut.com/l/_7Wr497HOri6o


62. let be an  such that 

,

then find 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a1, a2, a3, .......... . , AP

=
a1 + a2 + a3 + .......... . + ap

a1 + a2 + a3 + .......... . + aq

p3

q3
(p ≠ q)

= ?
a6

a21

7/2

2/7

11/41

41/11

https://dl.doubtnut.com/l/_xz3A5loKSem4
https://dl.doubtnut.com/l/_LofzuY43OkmN


63. If  are in AP, where  for

all I, the value of

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a1, a2, a3, …., an ai > 0

+ + ..... +
1

√a1 + √a2

1

√a2 + √a3

1

√an− 1 + √an

√a1 + √a
n

n

n

√a1 + √a
n

n − 1

√a1 + √a
n

n.√(a1. an)

https://dl.doubtnut.com/l/_LofzuY43OkmN
https://dl.doubtnut.com/l/_eeWVCkPb55WP


64. If 
 are an A.P. of
 non-zero terms,

prove that

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a1, a2, a3, , an

+ + + = .
1

a1 + a2

1

a1 + a3

1

an− 1 + an

n − 1

a1 + an

a1. an
2

a1. an
n

n − 1

a1. an

n

a1. an

https://dl.doubtnut.com/l/_eeWVCkPb55WP


65. If a,b,c are in both : A.P. and G.P. then (A)

 (B)  (C)  (D) 

A. a=b c

B. a  b=c

C. a  b  c

D. a=b=c

Answer: D

Watch Video Solution

a = b ≠ c a ≠ b = c a ≠ b ≠ c

a = b = c

≠

≠

≠ ≠

https://dl.doubtnut.com/l/_03kvBnDe9hZm
https://dl.doubtnut.com/l/_vfobhZgkb6fr


66. If x,y,z are in A.P. then :  are in (a)

A.P (b) G.P (c) H.P (d) no definite sequence

A. A.P.

B. G.P.

C. H.P.

D. no definite sequence

Answer: B

Watch Video Solution

e−x, e−y, e−z

67. If x,y,z are in A.P. then : yz,zx,xy are in

https://dl.doubtnut.com/l/_vfobhZgkb6fr
https://dl.doubtnut.com/l/_0JerbkOWr9QF


A. A.P.

B. G.P.

C. H.P.

D. no definite sequence

Answer: C

Watch Video Solution

68. If in a G.P.,  it given that (a) 120 (b)124 (c)

128 (d) 132

A. 120

{an}

https://dl.doubtnut.com/l/_0JerbkOWr9QF
https://dl.doubtnut.com/l/_rXa3z3sXYIEG


B. 124

C. 128

D. 132

Answer: C

View Text Solution

69. Every term of a G.P. is positive and also every

term is the sum of preceding. Then, the common

ratio of the G.P. is

A. 
1 − √5

2

https://dl.doubtnut.com/l/_rXa3z3sXYIEG
https://dl.doubtnut.com/l/_ARQE4taaFqP8


B. 

C. 

D. 1

Answer: B

Watch Video Solution

√5 + 1

2

√5 − 1

2

70. If in a g.P.  it is given that  =a and 

= b then : = (A)  (B)  (C)  (D) none

of these

A. 

{tn) tp+q tp−q

tp (ab)
1
2 (ab)

1
3 (ab)

1
4

(ab)1 / 2

https://dl.doubtnut.com/l/_ARQE4taaFqP8
https://dl.doubtnut.com/l/_R7tRcoGhzptD


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(ab)1 / 3

(ab)1 / 4

71. If , in a G.P.  it is given that 

= 30 

and =340, 


then : 

{an}

a1 + a2 + a3 + a4

a2
1 + a2

2 + a2
3 + a2

4

(a1, r) ≡

https://dl.doubtnut.com/l/_R7tRcoGhzptD
https://dl.doubtnut.com/l/_XQHCp1Qb6MPF


A. (2,2)

B. (3,3)

C. (16,1/3)

D. (16,1/2)

Answer: A

Watch Video Solution

72. If  is a G.P. of positive terms then : 

=

A. 

{an}

√a1a2 + √a3a4 + ⋯ + √a2n− 1. a2n

√a2a3 + √a4a5 + ⋯ + √a2n .a2n− 1

a1 + a3 + ⋯ + a2n− 1

https://dl.doubtnut.com/l/_XQHCp1Qb6MPF
https://dl.doubtnut.com/l/_lAKFA1lrcDUj


B. 

C. 

D. 

Answer: D

View Text Solution

a2 + a4 + ⋯ + a2n

a2 + a4 + ⋯ + a2n

a1 + a3 + ⋯ + a2n− 1

a1 + a3 + ⋯ + a2n− 1

a2 + a4 + ⋯ + a2n

73. The sides of a right angled triangle arein 

, then they are in the ratio

A. 

B. 

A. P .

2: 3: 4

3: 4: 5

https://dl.doubtnut.com/l/_lAKFA1lrcDUj
https://dl.doubtnut.com/l/_heQOhLOYxxye


C. 

D. none of these

Answer: B

Watch Video Solution

4: 5: 6

74. If x,y,z are in G.P and ,then

A.  a = c

B.  a = c

C.  a = b

D. none of these

ax = by = cz

logb loga

logc loga

logb logc

https://dl.doubtnut.com/l/_heQOhLOYxxye
https://dl.doubtnut.com/l/_MHHj8HKIp44Q


Answer: C

Watch Video Solution

75. If  terms of an A.P. are in G.P.,

then the common ratio of G.P. is-

A. 

B. 

C. 

D. 

Answer: D

pth, qth and rth

pr

q2

r

p

p − q

r − q

q − r

p − q

https://dl.doubtnut.com/l/_MHHj8HKIp44Q
https://dl.doubtnut.com/l/_f9dPMq8GpoFD


Watch Video Solution

76. IF x,2y,3z are in A.P. where x,y,z are unequal

number in a G.P., then the common ratio of this G.P.

is (a)  (b)  (c)  (d) 

A. 3

B. 

C. 2

D. 

Answer: B

Watch Video Solution

3
1

3
2

1

2

1/3

1/2

https://dl.doubtnut.com/l/_f9dPMq8GpoFD
https://dl.doubtnut.com/l/_mhIahJCTGMy4


Watch Video Solution

77. If  are the first three terms of

a GP, then what is its fourth term?

A. 27

B. -27

C. 13.5

D. -13.5

Answer: D

Watch Video Solution

x, 2x + 2, 3x + 3

https://dl.doubtnut.com/l/_mhIahJCTGMy4
https://dl.doubtnut.com/l/_IkSOMtTCpEvQ
https://dl.doubtnut.com/l/_gSSFQiqCFeWW


78. If a,b,c,d are positive numbers such that a,b,c

are in A.P. and b,c,d are in H.P., then : (A) ab=cd (B)

ac=bd (C) ad=bc (D)none of these

A. ab=cd

B. ac=bd

C. ad=bc

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gSSFQiqCFeWW


79. If a,b, and c are in G.P then a+b,2b and b+ c are

in

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kN3bN6HopE3v


80. If a,x,b are in A.P.,a,y,b are in G.P. and a,z,b are in

H.P. such that x=9z and , then

A. 

B. x=4 |y|

C. 2y=x+z

D. none of these

Answer: B

Watch Video Solution

> 0, b > 0

|y| = 4z

https://dl.doubtnut.com/l/_jXps7QSAjXNf


81. If a,b,c, are in G.P. , a.x.b in A.P. and b,y,c in A.P.,

then : = (A)  (B)  (C)  (D) none of these

A. 

B. 1

C. 2

D. none of these

Answer: C

Watch Video Solution

+
a

x

c

y

1

2
1 2

1/2

https://dl.doubtnut.com/l/_hxilsgDTD8UC

